a(0 @) (raqd)

Ratio

=
<

a(d cot(d))

1072

1073 PR 1A O PO O P O P P 1073 PRI I 1O L P T

o
C

C i fe) " ] q i
L i = - o |
- LR e EH-1-- R - - G 15f-- q SRR ([ RI R ERES | | EERER
g i o C ] i i i
C Ml 1 E : : : 4
L " - - 2| 4] - -1 -FE- 41 -- 44 bt --- - -
05[----i: AL L T I 1 ;
L 1 L ] i 1 i
5
-3

-2 -1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w

—s=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut2_RECO

—— DQM_V0001_R000000001__Global__CMSSW_mknocut2_RECO
1

= 1 : = F
= L TR e E C
Q . N o r
2 : e E
;Q 3 1 ] i ;\N [
o : o r
: I )
S . ; : S
° 107 bt 16T 1
o Il : UV SRR ot haf3ds Ao B CERRERRtads 336 1SR
L. : (|8 f
L r ol 1 S [ E o AN AR AN O S U D MR CAE  A
1072 = H e TR
wo o bbb BHEEL R L LI

1.5p--

H
Ratio

iy

0.5

-

-2 -1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[3)]

05

|

w

[ paanapaanynal
|
N - E

|

N

o

=

o p/p.)

107}

%]

Ratio
N

LT AL
0 1 2 3
TP n (PCA to beamline)

|
w



	Contents
	Page 1


